
#YourGearUpgraded

Sound Bar Mount

Model EGSB1

INSTRUCTION MANUAL



2

 □ Your TV, soundbar, soundbar mount, and any 
accessories you plan to install DO NOT EXCEED the 
specifi ed weight limit of your TV or TV wall mount.

 □ You read and understand these directions.

 □ You refer to the documentation that came with 
your sound bar, your TV and your TV wall mount for 
additional guidance.

 □ You have the tools needed for installation.

 □ You CANNOT use this product if your TV mount’s 
interface bracket: includes built-in/integrated spacers 
(Pic 1), or the mounting holes/slots are greater than 
11mm [.43 in.] (Pic 2). 

... but read it, so you don’t jack things up!

IMPORTANT SAFETY INSTRUCTIONS. READ ENTIRE MANUAL PRIOR TO USE. SAVE

Yea, the boring stuff ...

Pic  2

Pic  1



TV

Soundbar
Pic  3 3

 WARNING: 
 ► This soundbar mount is only designed for use with TV wall mounts that 

meet third party safety certifi cations (UL Certifi ed).

 ► This soundbar mount is ONLY designed to mount below the television (Pic 3). 

 ► This soundbar mount is designed to be installed and utilized only 
as specifi ed in this manual. The manufacturer is not responsible for 
improper assembly, use, or handling of this product.

 ► For wall mounted TVs: Your wall must be capable of supporting fi ve 
times the weight of your TV, TV mount, and soundbar combined.

 ► Failure to follow these instructions could result in an unstable situation 
that may result in property damage or personal injury. 

Don’t get it? 
Call The ECHOGEAR Pros

1-855-428-2490



4

Weight Limit 
for EGSB1

TOTAL Weight Limit for Your TV Mount/Stand – "test your math skills"

DO NOT EXCEED 15 lbs. (6.8 kg) 
for this Soundbar Mount.
“You can think about it ... but doooon’t do it.”

15 lb
(6.8 kg)

 CAUTION: Avoid potential personal injuries and property damage! 
The weight of your TV/ this soundbar mount/your soundbar/any accessories, 
MUST BE LOWER than the maximum weight rating of your TV mount. 
See your TV mount's manual for maximum weight allowed.

(plus) (plus) (equals)

Soundbar 
Mount

ANY Other
Accessories

Your 
Soundbar Your TV

Maximum
weight for Your 
TV Mount/stand

Weight Restrictions

(plus)
2 lbs.

(0.9 kg)
__ lbs.
(__ kg)

__ lbs.
(__ kg)

__ lbs.
(__ kg)

MAX
TOTAL

WEIGHT



5

Phillips Screwdriver

Level

3rd Party Certifi ed 
TV stand or Wall Mount*

“UL Listed
... for safety sake!”

“Give it back to Phil 
when fi nished”

*The TV mount styles illustrated 
will vary, though the install 
procedures are the same.

Grab Your Tools



6

NOTE: Not all hardware included will be used.

Parts FOR STEP 1.1

 x 205 x 2 of 6 *04
01  x 2

02  x 1

03  x 1

Vertical
Soundbar
Bracket

Right Soundbar
Bracket

Left Soundbar
Bracket Knob

Washer Knob

What’s in the Box

* also used in another step

 WARNING: "DON'T FEED TO CHILDREN" — This product contains small items 
that could be a choking hazard if swallowed. Before starting assembly, verify all parts 
are included and undamaged. If any parts are missing or damaged, do not return the 
damaged item to your dealer; contact Customer Service. Never use damaged parts!



7

 x 2 of 4 *06

 x 2 of 4 *08

 x 207

 x 2 of 4 *12  x 2 of 6 *04

 x 209

 x 210

M4 x 16 mm

M5 x 16 mm

M6 x 16 mm

Knob
Washer

Keyhole 
Screw

Wing 
Nut

Parts FOR STEP 1.3 

M4/M5
Washer

* also used in another step



8

You're ready! 
LET’S DO THIS!

 x 2 of 4 *
06

 x 2 of 4 *
08

 x 2
14 x 2 of 4 *

12

 x 2
13

 x 2
11

M4 x 16 mm

M6 x 16 mm

M8 x 20 mm

Spacer

Parts FOR STEP 2.3

4 mm

NOTE: These extra screws and washers are 
provided if you need to modify your screw length.

M4/M5
Washer

M6/M8
Washer

 x 2 of 6 *
04

Knob
Washer

* also used in another step



9

STEP 1

STEP 1.1

Install Brackets on Your Soundbar

04 0405 05

0302

04 05

Assemble Soundbar Brackets

01 01



10

Orient the Brackets For Your Sound Bar

For Wide Hole Spacing

Tab

Tab Tab

Tab

For Narrow Hole Spacing

or Hanger 
(if supplied 
with your 
soundbar)

STEP 1.2

02

01

01

03

01
02

01
03



11

STEP 1.3

Look at the mounting 
holes on the back 
of your soundbar to 
determine your install 
method A, B or C.

Secure the Brackets on Your Sound Bar

Threaded insertsA:
02 03

+

+ 1204

0708 06



12

Key hole slotsB:
"Old-timey key shape"

ASSEMBLE INSERT, 
LIFT UP, 
then 
TIGHTEN

(Back of soundbar)

09

02 03

10



13

ASSEMBLE TIGHTEN

Rivets with a separate hanger bracketC:

Soundbar
Hanger

(Back of hanger)

"If supplied with your soundbar"

09

02 03

10



14

Prep Your TV (if mounted on a wall or stand)STEP 2.1

UNPLUG DISMOUNT REMOVE
all cables from 
your TV.

your TV from the 
wall or fl oor mount.

the TV bracket(s) 
from your TV.

STEP 2 Install Your Soundbar to Your TV

a. b. c.

 IMPORTANT! Save ALL hardware you remove for use in later steps.



Adjust Soundbar to Your TV (VESA) Hole Pattern

SLIDE ............... or ............. ROTATE ............... or... SWITCH and ROTATE

STEP 2.2

Righty 
Tighty

Righty 
Tighty

Righty 
Tighty

Lefty 
Loosey

Lefty 
Loosey

Lefty 
Loosey

15



16

Fasten Your Soundbar to Your TVSTEP 2.3

 CAUTION: Verify adequate thread 
engagement with your screw/washer/
spacer combination AND all brackets.

— Too short will not hold the TV.
— Too long will damage the TV.

Follow your TV mount or stand's installation manual to install your TV brackets 
onto your TV.

NOTE: Sound bar brackets 01  AND spacers 11  install BETWEEN your 
TV and TV brackets.

NOTE: Extra screws 06 , 12  and 13  and extra washers 04 , 08  and 14  
are provided, if needed for better fit (TV screws are too short - or too long).

“like a sammich”

Need longer fasteners? Call The ECHOGEAR Pros 1-855-428-2490



TV Brackets
(Style will vary)

TV

Sound Bar
(Style will vary)Side View

IMPORTANT:
MAXIMUM

2 in. (51 mm)
Spacing

Spacers 11  on 
TOP TV holes

Soundbar 
brackets 01  
on BOTTOM 
TV holes

17



TV Brackets
(From your TV mount/
stand  -- Style will vary)

TV Bracket Hardware
(From your TV mount/stand)

Sound Bar 
Assembly
(Style will vary)

18

Extra washers 
08  or 14  can be 
stacked if screws 
are too long

11



19

Follow your TV wall mount or stand installation manual to hang your TV 
assembly and fi nish your installation.

STEP 3 Hang Your TV/Soundbar Assembly

 IMPORTANT! 
Make sure ALL 
fasteners are tightened 
before continuing.

 CAUTION: 
DO NOT overtighten the 
fasteners — tighten only 
until snug.

“Easy there Popeye”



6901-602117 00

Confuzzled?  Call the ECHOGEAR Pros: 

     1-855-428-2490              helpmehelpyou@ECHOGEAR.com

Milestone Global Headquarters • 6436 City West Parkway • Eden Prairie, MN 55344 USA

Milestone AV Technologies and its affi  liated corporations and subsidiaries (collectively, 
“Milestone”), intend to make this manual accurate and complete. However, Milestone makes no 
claim that the information contained herein covers all details, conditions, or variations. Nor does it 
provide for every possible contingency in connection with the installation or use of this product. 
The information contained in this document is subject to change without notice or obligation 
of any kind. Milestone makes no representation of warranty, expressed or implied, regarding the 
information contained herein. Milestone assumes no responsibility for accuracy, completeness or 
suffi  ciency of the information contained in this document.

©2016 Milestone AV Technologies. All rights reserved. ECHOGEAR is a Milestone brand. 
ECHOGEAR and the ECHOGEAR logo are trademarks of Milestone. 

Made in China.

“Wanna show off  your hard work? Share a picture of your completed project with #YourGearUpgraded. 
Who knows, it might not be as bad as you thought”


